CALCULATING VESSEL VOLUMES

The computer program “Vase” (© Greg Christiana, 1
volume of a vessel if its profile is drawn on a compulter scre
is known. The maximum volume» is greater than the capacity

an exterior profile.

The program seems to be reasonably accurate. Pithos ZA Zb 3 from the LM I villa at

Epano Zakros! is inscribed in Linear A:
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VINUM 32 probably corresponds to the pithos’s capacity, which, when calculated by
“Vase,” amounted to 996 liters based on the exterior profile; if the number “32” represents
wet units, then the unit would have to smaller than (996,732 liters or) 31.13 liters. This amount
would correspond to the Mycenaean wet unit of 98.8 1. as calculated in the first edition of
Documents in Mycenaean Greek (Docs; the 2nd edition gives 36 liters).? If this correspondence is
correct, it would suggest that the Mycenaean wet unit was based on a similar

of less than 30 liters..

Using “Vase,” I calculated the maximum volumes of the following vessels, using a dry
unit of 96 1. as published in Docs' (120 1., Docs?) and a wet unit of 28.8 1. in Docs! (36 1., Docs?):

VESSEL Liters

Tiryns X11,3 156-7, pl. 82.1 (LH III C dev) 23.0

Mycenaean Dry units

24 (.19) < 1/4

Mycenaean Wet units

80 (.64) < 3/4

Popham, MUM?* P41 (pl. 75a) 25.8 27 (.22) = 1/4 90 (.72) £7/8
Tiryns XIL, 59, pl. 25.1 (LH LI B2) 28.5 30 (.24) = 1/4 99(79) <1
Popham, MUM P72 (pl. 75b) 32.7 3427 <1/3 1.1(91) =1
Popham, MUM P126 (pl. 76b) 34.0 35 (.28) = 1/3 1.2 (.94) = 1
Popham, MUM H191 (pl. 77b) 35.5 37(.80)=1/3 1L.2(97) =1
Christakis,” fig. 2: Palaikastro NP 69 (H. 48) 40.6 42 (.34) = 3/8 1.4(1.1)<13/8
Popham, MUM P56 (pl. 77a) 41.0 43 (.34) = 3/8 1.4(1.1) <13/8
Popham, MUM P69 (pl. 76a) 43.9 A6 (.87) <1/2 1.5(1.2) <11/2
Mycenaean krater (Larnaca Museum)® 53.0 55 (44) = 1/2 1.8(1.5)=13/4
Christakis, fig. 2: Knossos, Acr. House (H.54)53.1 .55 (44) = 1/2 1.8(1.5)=13/4
Christakis, fig. 2: Palaikastro NP 65 (H. 52) 55.0 58 (46) = 1/2 1.9(1.5)<17/8
Popham, MUM P37 (pl. 75¢) 56.0 58 (47) = 1/2 1.9(1.5)<£17/8
Popham, MUM P51 (pl. 76c) 57.8 60 (.48) = 1/2 2.0(1.6)<2
Popham, MUM M99 (pl. 75d) 58.0 60 (48) =1/2 2.0(1.6)=<2
Popham, MUM P60 (pl. 76d) 60.0 .63 (.60) = 5/8 21(1.7)<2
Popham, MUM M50 (pl. 77d) 62.0 65 (.h2) = 5/8 22(1.7)<21/8
Popham, MUM P125 (pl. 77¢) 63.0 66 (.53) <2/3 22(1.8)<21/8

Linear A wet unit
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Christakis, fig. 2: Palaikastro NP 68 (H

Popham, MUM P75 (pl. 78b)
Popham, MUM M41 (pl. 78a)

Christakis, fig. 2

. 63)

: Tylissos, House A (H. 92)
Christakis, fig. 2: Tylissos, House A (H. 120)
Epanna Zakros (H. 170): 32 VINUM

Kannia’ fig. 29¢ (H. 180.6, if H a: 170 cm)

Kannia fig.
Kannia fig.
Kannia fig.
Kannia fig.
Kannia fig.

29a (if H a: 170 cm)

29b (H. 191.25, if Ha: 170 cm)
90f (H. 184.9, if H a: 170 cm)
29d (H. 1954, if H a: 170 c¢m)
29¢ (H. 180.6, if H a: 170 cm)
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75.9
83.6
117.6
193.1
319.8
996.0
1212.4
1287.4
1292.0
1334.7
1377.5
1430.5

“Scavi di Kannia,” BdA (1959) 237-65.

79 (.63) = 3/4
87(.70) = 7/8

1.3 (.98) = 1
2.0(1.6) <2
3.3(27) <3 1/3
10.4 (8.3) < 10 1/3
12.6 (10.1) < 12.5
134 (10.7) <13 1/3
18.5 (10.8) < 13 1/2
13.9 (11.1) < 13 3/4
144 (11.5)< 14 1/3
14.9 (11.9) <

96(2.1)=21
29(23)<27
41(33) ~4
6.7 (5.4) 6-5
11.1(8.9) < 11, 102
34.6 (27.7) < 34, 32?
42.1 (38.7) < 42, 40?
44.7 (35.8) < 44
44.9 (35.9) < 44
46.3 (37.1) < 46, 45?
47.8(38.3) =~ 47
49.7 (39.7) <49
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